# Chapter 2 – Atomic Structure and Nomenclature

# Section 1 - Atomic Structure

Dr. Sapna Gupta

### 1

# **Introduction**

- The first time anyone thought of atom as a small particle was a Greek philosopher, Democritus during 5<sup>th</sup> century. He proposed that atoms were indivisible particles making up everything.
- Now we have a little better understanding of atomic structure, but new discoveries are still being made.
- In the study of atomic structure we will study the atomic theory, the nuclear model of the atom.
- As elements were being discovered it became critical to have them in some order hence the design of the periodic table. We will study how the periodic table is arranged and what information we can obtain from it.



## **Law of Definite Proportions**

This law demonstrates that the same elements will be in the **same** mass ratio no matter how many different samples of a given compound are analyzed.

Sample	Mass of O (g)	Mass of C (g)	Ratio (g O: g C)
124 g carbon dioxide	89.3	33.5	2.66:1
50.4 g carbon dioxide	36.6	123.8	2.66:1
88.6 g carbon dioxide	64.3	24.1	2.66:1
Sample	Mass of O (g)	Mass of C (g)	Ratio (g O: g C)
-			
16.3 g carbon monoxide	9.31	6.98	1.33:1
50.4 g carbon monoxide	14.7	11.1	1.33:1
88.6 g carbon monoxide	50.4	37.8	1.33:1
0			

















Solved Problem: Learning about the of history of the atom. Answer the following questions about the history of the discovery of the atom and its subatomic particles.
a) Who is credited with determining the presence of atomic nucleus? *Rutherford*.
b) What type of experiment helped to discover the location of protons? And how did it work? The gold foil experiment helped to discover location of protons. When positive radiation was passed through atoms, some radiation went through the atom, but some bounced back and hit the gold foil surrounding the atom. This indicated there was a positive center in the atom.
c) What was the purpose of Milliken's oil drop experiment? *To determine the charge on the electron*.
d) Which subatomic particle was discovered first and by whom? *Electron was discovered by JJ Thompson*.



# <section-header><text><list-item><list-item><list-item><text><text><page-footer>



# **Calculation of Atomic Mass**

Magnesium from the previous slide has three naturally occurring isotopes. The mass and percent abundance of each isotope is given below. To find the average mass, we calculate the mass contribution of each of the naturally occurring isotope as shown below.

Percent Abundance (%)	Fractional Abundance (%/100)	Mass (amu)	Mass From Isotope
11	0.11	26.00	0.11 x 26 = <b>2.86</b>
10	0.10	25.00	0.10 x 25 = <b>2.50</b>
79	0.79	24.00	0.79 x 24 = <b>18.96</b>
Addition of all fractions of mass contribution of isotopes gives the actual mass			24.32

Dr. Sapna Gupta/Atomic Structure

